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(%11) A:matrix([(2,3,0,2]1,[4,3,2,1],[6,0,0,3],[7,8,0,4]);
determinant(A);
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(%13) C(n,Kk):=nl/K!/(n-K)!;
fi4*(C(13,5)-10)/C(52,5);

float(f);
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(%03) c(n,ﬁ:):=(”_k)l

i) 1277

50%) Ba9740

(%05) 0.8019654015452334
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7 (%i6) pim*t+0.2;
integrate(p,t,0,10);
solve(%=1,m);
pp:substitute(%,p);
integrate(t*pp,t,0,10);
float (%) ;
cdf:integrate(pp,t,0,x);
solve(%=1/2,x);
Tloat (%) ;
(%06) mt+0.2
rat: replaced 0.2 by 1/5 =
rat: replaced 0.4 by 2/5 =
rat: replaced 0.2 by 1/5 =
rat: replaced 2.0 by 2/1 =
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(%08) [m=-c5]
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(%09) 0.2~z

rat: replaced 0.2 by 1/5 =
rat: replaced 0.2 by 1/5 =
rat: replaced 0.2 by 1/5 =
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(%011) 3.333333333333333
rat: replaced 0.2 by 1/5
rat: replaced 0.4 by 2/5 =
rat: replaced 0.2 by 1/5 =
rat: replaced 0.2 by 1/5
x%-20 x

100
(%013) [x=10-5 /2, x=5+/2+10]
(%014) [x=2.928932188134524, x=17.07106781186547 ]

I

o Qs Tl = R
AN AN I SN N

1

(%0l2) —




